4 3 < 2 1
CLOPa&Y  IDEAL ~ HOLMES SHEET: REVISIONS
3717 A C7®17 +»  —-- S 276A 1. 79" THICK MINOR RIB 1 OF 4 .
REV. NO.| ZONE: | DATE: N NO.[ APPVD: DESCRIPTION
3718 S C7X18 ~ -~ S 276a 1. 75" THICK FLUSH EG O E L g 2
3720  / C7X20 / 240U / 27GA 2° THICK MINOR RIB o = _JUseeig] - 21| REWGVED WD -PEED TARLE
3722 S COxeg » -- S 20GA 2 THICK FLUSH
3724 S C7Xed 7 2440 S 24GA 2" THICK MINOR RIB
‘ ___A
_ | __— view "¢
| = e __ = . . o e T
S— ‘ = J// VIEW "B"
C & v
| OPTIONAL GLAZING MAY BE
Y/ Y/, Vi Vs ] ‘ V4 Vs ! Vi %—I;—"‘I STANDARD (DSB OR BETTER) OR
; IMPACT RESISTANT GLAZING.
A MAXIMUM GLAZING SIZE (DLO) IS
22"x9—7/8". SEE SECTION B-B
, ON SHEET 2 FOR DETAILS.
- GLAZING MAY BE INSTALLED IN
1[4 TOP SECTION (NOT SHOWN) OR
INTERMEDIATE SECTION (SHOWN).
S~ TWO POINT
] \ LOCKING.
™ U—BAR.
]
-
MAX. DOOR WIDTH: 14'-p* |
.sr |NUMBER OF #14x5/8" SHEET
MOCRZEEIGHT % [y vriamg METAL SCREWS.
UP TO &-0° 2

B THEL 10e-7 3 1/4"%3/4" SELF

10'-3" THRU 12'-0 6

(257 ThRl Tdr=ht 5 TAPPING SCREWS.

14'-3" THRU 16°-0° 8

16°-3* THRU 18'-0* 9

14 GA. END HINGES 14 GA. (MIMN.) INTERMEDIATE HINGE
VIEW_"B" VIEW "C"
- SNAP LATCH ENGAGES
/‘ ONTO VERTICAL TRACK. END
i ONE SNAP LATCH ON STILE.

EACH SIDE OF DOOR, MANUFACTURING PRODUCT CODE
. SLIDE BOLT LOCK C-DSIU-1D4 /¢
& END G SN DESIGN LOADS: +36.0 P.S.F. & —-40.0 PS.F

STILE. S ek TRECK OUTSIDE TEST LOADS: 454.0 P.SF. & —60.0 PSE PART NO.: N/A
EACH SIDE OF OUTSIDE HANDLE. IE-:OCK BSR Uniess Stoted Otherwise -nl 3535 Dgﬁﬁqgggﬁﬂﬁsrg WINDLOAD RATIMG

. n,

7 2o DOOR. KEYED END TE'ESEEON[N TOLERANCES o | umm WIOPAY 1550 91550055 WE) DP 36

v HANDLE STILE. EACH SIDE 0= +.03 Bulding Products Compony Fox Mo. S513-770-4853

- "f, gLl e e OF DOOR. 0'33 = i-gég DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 14'2"W (SEE TABLE)

N TR o R INSIDE_SLIDE_BOLT INSIDE HANDLE Sl DRAWN BY: SH DATE: 2/10/14 |SCALE: NTS OWG.
DESIGN, ENGINEER: . - e OUTSIDE_KEYED LOCK WITH CUSIDE KEYED LDCK ¥ 1= Degress = 1142 ; SIZE
MARK WESTERFIELS, VE, | SNAP |ATCH LOCK OPTION. LOCK BAR LOCKING. e ; CHECKED BY: SH DATE: 2/10/14 |[SHEET 1 OF 4
FLORIDA p_Elﬁgulga;és,J' NC P.E. #23832, TEXAS P.E. #91513 gu’ﬂ?r?s.%ﬁf?ia?’]ﬁ'"ff@nss. DWG. MNO.: 104861 — A/B VER: TOI

4 3 “~ 2 1




4 “,- 2

CLOPAY / IDEAL / HOLMES SHEET: REVISIONS
3717 S C7X17 ~ -- £ 270A 1. 75" THICK MINOR RIE 2 OF 4 NE- . APPVD: DESCRIPTION
3718/ C7X18 v --  / 27GA 1. 75" THICK FLUSH "EY. TO.| ZONE: | DATE: | ECN NO. > T o T OOE
3720 7/ C7X20 / 240U /7 27GA 2° THICK MINOR RIB 01 o - - - SEE. REVISION: Hiatobn s :
3722 s coxe2 /s -- / 20GA 2" THICK FLUSH
3724 / C7X24 / 244U 7 24GA 2 THICK MINOR RIB

IMPACYE RESISTANT COMSTRUCTION: STANDARD ASSEMBLY CONSTRUCTION:

SOLID DOOWE (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—-RESISTANT @ AZING ARE

IMPACT—RESNEANT. OPTIONAL IMPACT RESISTAMT ASSEMBLY CONSISTS OF g CMINUNM
FROMT FRAMEWEID SABIC IP LEXAN 9034 (VERSIONS ALSO APPROVED: W0, 9030,
90318, 90316, WR317, 90311, 90314, 90355) OR BAYER MAKROLOMGIF (VERSIONS

AR, 15), APPROVED CC1 PLASTICS IN ACCORCMNCE WITH IBC/FBC

C1 PLASTICS IN ACCORDANCE WITH FBC 26

BLY INSTALLED IN COMPLIANCE WITH T SECTION MEETS THE

£ OF THE FLORIDA BUILDING CODE AP INTERNATIONAL BUILDING
SMALL—MISSILE IMPACT RESISTA

ALSO APPROVED:
2608 AND APPROV
THE ENTIRE DOOR A
WIND LOAD REQUIREMER
CODE AND IS LARGE- A

OPTIONAL LITES WITH DSB OR TEMPERED INSULATED GLAZING AVAILABLE. OPTIONAL FULL VISION SECTIONS WITH DSB OR BETTER GLAZING AVAILABLE.

THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR INTERNATIONAL BUILDING CODE BUT DOES MOT MEET THE IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS REGIONS (REF. CHAPTER 16

FBC/IBC).

SECTION B—B WWMPACT—RESISTHMT GLAZING OPTION)

INSULATED DOOR SECTIO ,

7,
DECORATIVE FACADE. r‘//
;f; (10} .
#8-18 x 1/2
EXTERIOR OF DOOR. y / [
//ﬁ& ; AE SELF—TAPPING SCREWS.
!. E)EL, ?‘i
> 132 Ve ™ INTERIOR OF DOOR.
§
§
8 RIRAINER,
3

#8-18 x 1,/2" AL UM FRAME.

SELEFTAPPING SCREWS.

1/4"4FICK POLYCARBONATE
GLAZING.

SECTION B—B
(NON—IMPACT—RESISTANT
GLAZING OPTION)

PANE
THIEKNES;_.| r—

PAN HEAD
Y SCREW

e
INSULATED GLASS
THICKMESS
——()
OUTSIDE
FRAME INSIDE
FRAME

IMPACT—RESISTANT ASSEMBLY DETA
DRAWING 104861-A

STANDARD ASSEMBLY DETAILS
DRAWING 104861-B

DESIGN LOADS: +36.0 P.SF. & —40.0 PSF.
TEST LOADS: +54.0 P.S.F. & —860.0 P.S.F.

MANUFACTURING PRODUCT CODE

E~DSIU-=1ID47F7

PART MO.: N/A

¢ - = . Unless Stated Otherwise - 8385 Duke Boulevard WINDLOAD RATING
2/ gesffer 2 TOLERANCES oe |gm [SlOAY  Yoson, O ssGi0 S Wi DPIE
A b : 2 0= .03 Buibding Products Company Fox No. 513-770-4853
i 07 /L/j:r 3 o 00 = £.015  |DESCRIPTION: 1-3/4" INTELLICORE DOORS UP TO 14'2"W (SEE TABLE)
o, R 0000 = +oor [DRAWN BY: sH DATE: 2/10/14 [SCALE: NS |pwa.
DESICN ENGHNEER:- .. Degrees = +1/2° [CLECKED BY: SH DATE: 2/10/14 |SHEET 2 OF 4 [SIZE
L?ﬁSDfEETE?RLEESﬁE P.E. #23832, TEXAS P.E. #91513 DRMENSIONS. AR N NCHES.| DWG. NO.- 104861 — A/B VER: T0I
T Vi 1

4




4 3 - 2 1
CLOPAY s IDEAL / HDLMES SHEET: REVISIONS
3717 £ CIXLVT7 - S 276A 1. 75" THICK MINOR RIRB 3 OF 4 : . ;
3718 v CIX18 ¢ —- Fea768 e Thick FLUS REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
3720 7 C7X20 / 240U / 27GA 2° THICK MINOR RIB £l = . : = | SEEREVISION HIBTORY DN SIEETONC
3722 A COxege »  —-- S 206A 2" THICK FLUSH
3724 S C7Xed4 7/ 244U S 2404 2 THICK MINOR R "
i . r—waﬁz THICK MIN.
12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH
BRACKET ATTACHED W/(5) #14x5/8" SHEET METAL
SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
HORIZONTAL (TOP) JAMB JAMB TO SUPPORTING STRUCTURE ATTACHMENT BRACKET WITH (2) 1/4"1/2" BOLTS AND NUTS PER
— /_ (NO LOAD FROM BOOR) [— HitiyEs; BRACKET.
/ ) 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO , £o5
; 3 THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS )
W TRANSFERRED TO THE HORIZONTAL (TOP) JAMB. =
2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +252 LB & —280 LB. PER LINEAR 27 GA. (.016" MIN.) EXTERIOR STEEL
FOOT OF JAMB, SKIN WITH G-40 MIN, GALV., BAKED-OMN
. 3. ALL JAMB FASTEMERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A = S N L DA, BRRED
FLUSH MOUNTING SURFACE.
TYPE 4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE T3 BOTH. SIDES: OF -STEEL . SKIN.
/1 . LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY.
] :..W’"'N,r:
MAX. O.C. NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER, -~ .
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS | SECTIONS ARE 1-3/4" THICK (MIN.} PANELS.
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1-1/2" AND INSTALLED DIRECTLY EXTERIOR 27 GA. MIN. GALV. STEEL INTERIOR 27 GA.
: 8 THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK MIN. GALV. STEEL. THE STUCCO EMBOSSED STEEL
i WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH TEXTURE IS PREPAINTED WITH A BAKED POLYESTER
MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAN BE ANCHORED DIRECTLY TO GROUT PAINT. MINOR RIBS ARE PLACED EVERY 4 INCHES
/- 2x6 VERTICAL JAMB REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMBS. ALONG THE WIDTH OF THE EXTERIOR PANELS.
A \\ TONGUE AND GROOVE JOINTS.
VIEW "E” 14 GA. GALV. ROLLER HINGE. EACH HINGE

FASTENER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES

i
1-7/8
T”"=’

3" TALL 50 KSI U-BAR
20 GA. GALV. STEEL.

FASTENED TO END STILES W/(4) #14x5/8" SHEET
METAL AND (4) 1/4"x3/4" SELF TAPPING SCREWS.
(SEE VIEW "B")

TT———(2) 3" x 20GA. STEEL U-BARS PER SECTION.
ATTACHED WITH (2} 1/4"x3/4" SELF—TAPPING
SCREWS PER HINGE LOCATION. (SEE VIEW "E™)

27 GA. (018" MIN.) EXTERIOR STEEL

SKIN WITH G-40 MIMN. GALV., BAKED-ON

POLYESTER PAINTED TOP COAT APPLIED
i TO BOTH SIDES OF STEEL SKIN.

12 GA. GALV. STEEL BOTTOM BRACKET.
ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.

ALUMINUM EXTRUSION & VINYL WEATHERSTRIP,

MAXIMUM
ON—CENTER
bearance e SECTION A—A (SIDE VIEW)
BETWEEN _|WASHERS
BUILDING TYPE FASTENER TYPE FASTENERS®|REQUIRED?
: HOLLIC_:IrWFBLECH w%L 1 §4" X 11 ::4" MIN, EMBED ULTRACON CONCRETE ANCHOR B—1/2" 1" 0.0,
= i GROUT FILLED BLOCK WALL |1/4 x 1-3/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 10-3/4" 1" 0.0
 Fon o A ,"‘r, 2000 PSI MIN. CONCRETE_ | 1/4° x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR S—1/4 1" 0.0 PRREE TR S AR SESie
/ / ] i, " [2000 _PSI MIN. CONCRETE [ 1/4" x 1° MIN. EMBED TAPCON CONCRETE ANCHOR B 1"_0.D. C-DISIU-1D477
A /' "< [R000 PSI MIN, CONCRFTE [3/8 x 1-3/4" MIN. EMBED WEJ=IT ANKR TITE_SLEEVE ANCHOR 20" INCLUDED DESIGM LOADS: +36.0 P.S.F. & -40.0 P.S.F. s
) 4 “ "+ (4000 F;_SRIA ’:uu mpm;ﬂnm 3/8" x 1-3/4 r.(u:rg EHBEE WEJ—IT_ANKR TITE_SLEEVE mcggn 24 . INCLUDED TEST LOADS: +54.0 P.S.F. & -60.0 P.S.F. PART NO.: MN/A
. ¢ co | WOoD E (SYP 0.55 SGY1/2" » 3" W_(ASTM 7, GR A) 1-5/8" EM INTO STRUCTURE 21-1/2" D, Unless Stoted Otherws 8585 Duke Boulevord
2 L e B 146 STERL (0.060" MIN.) [1/4"—14 « 1" TW BUILDEX TEKS SELF-DRILLING FASTENER 9" 1.0, TEESEF?E.ENCES r:: &= ﬂ'npay Mgsc?n O 453&19&?52& TR
: f Mz oV 7. [12GA STEEL (01057 MIN) T1/4™=14 « 1" ITW BUIDEX TEKS SELF-DRILLING FASTENER 15-374~ |17 0.D. s ] Tel. No. 513-770-4800 W6 DPR6
R i e/ AR -_ 41/8" STEEL 1/4"—14 x 1" TW BUILDEX TEKS SEIF—DRILLING FASTENER 18-3/4" [1" O.0. 0= £.03 Bulding Producls Company Fax No. 513-770-4853
A g R e FI{_?ST (BOTTOM) ANCHOR STARTING AT NO MORE THAM HALF OF THE MAXIMUM ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED 0'33 = :-gag DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 14'2°W (SEE TABLE)
£l LR AT LEAST AS HIGH AS THE DOOR OPENING. 000 = &, . : :
DESIGN "ENGINFER: - - .  CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS, 0000 = +.001 |DRAWN BY: SH DATE: 2/10/14 |SCALE: NTS DWG.
SR VS Eé- o MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF COMCRETE BLOCK: 2—1/2" EXCLUDING STUCCO THICKMESS, Degrees = £1/2 |cyFCcKED BY: SH DATE: 2/10/14 |SHEET 3 OF 4 |SIZE
ANE Y C R Unless Stoted Ctherwise
FLORIDA P.E. #48495 -NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS. ARE IN INCHES.|[DWG. NO.: 104861 — A/B VER: TDI

4

g

Z



4 3 < 2 1

CLOPAY ~ IDEAL ~ HOLMES SHEET: REVISIONS
3717/ C7X17 / == / 27GA 1. 75" THICK MINDR RIB 4 OF 4 [Rey NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
e TS v e ol E7DA LTS THIEK EEOSH 1 - SEE REVISION HISTORY ON SHEET ONE
3720 L C7¥e0 7/ 240U £ 2704 27 THICK MINDOR RIE 0 I . - = :
3722 S Ccoxee »  -- S 20G04a 2* THICK FLUSH
3724 A C7Xed4 /7 244U A 2468 2 THICK MINOR RIE
2" TRACK CONFIGURATION T,
DOCORS UP TO 800 LBS. SUPPORT BY DOOR
oy INSTALLER (TO SUIT). T
NOTE DOUBLE TRACK DOOR COUNTERBALANCE SYSTEM EE%ﬁT s JAMB_CONFIGURATION ANGLE MOUNT JAMB CONFIGURATION
HEADROOM, HI-LIFT TRACK, - o = = o = 5—8"] 70" DOORS UP TO 800 LBS. %6 S B (IF PRESENT
FOLLOW-THE- ROOF = x P JAMB (I ;
TRACK, AND VERTICAL LIFT 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO =0 78" BRACKET MOUMNT JAMB CONFIGURATION SEE JAMB NOTES ON SHEET 3).
OPTIONS, e [ ANOT0 TRAGH WiH (2 172 RV, O T 1" DOOR OVERLAP (EACH SIDE) —]
OPTIONS. il L L o ' 8-0"] 88" OPTIONAL STOP MDULDING ——
TRACK COMFIGURATION = §-61 94" 2x6 SYP WOOD JAMB. BY INSTALLER (TO SUIT). hete ok ONE 5 /16" x 1-5/8" LAG
DOES NOT APFECT Tae T © 9 S RQD: SPACING NTE 14" 0.0 3.=0. 100, B s PR 150 GLLY SIEEL SINGLE-END=STLE L 187 SCREW SPACED AT THE SAME
WIND LOAD RATING lil A QD: =2 gr'_E“ TUE” MOUNT. FASTENED WITH (1) #B8 X 1,/2" WAFER SCREW. |2 i o5 s fa DISTAMCES AS THE TRACK BOLTS
: LS o g o) o e s
o " GALV. STEEL TRACK, A 0 a 12™). AL
- M o 11 -0°1124 2-1/2" X 12 GA GALV. STEEL s R LoD Ao e
i . : 1; =5 1;5 TRACK BRACKETS FAST!ENEP 1O | HORIZONTAL TRACK JUNCTION.
12'-0"[136" WOOD JAMBS WITH 5/6" X L -
E T = g 7167 LD, ROUND TER HINGE
5 12-6"[142" 1-5/8" LAG SCREWS NOT TO PUSH NUT FASTENER. ;:S%‘ E‘EHLT‘E gErCTJI-OF?E'i'NU%-i]I HéACH
i VERTICAL TRACK TO BE BRACKET 13'—07"[148 EXCEED 14™ ON-CENTER. D
- MOUNT OR CONTINUOUS ANGLE 13 -6"[154" #14x5/8" SHEET METAL SCREWS. ;
g {1-3/4"2=1/4"12 GA MIN.) 14'-0"[160" 14 GA. GALV. STEEL ROLLER HINGES FASTEMED TO END STILES W/{4) EACH #14x5/8
Z MOUNT. ALL BRACKETS/TRACK 14 —6"[166" SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER EMD HINGE.
g CLIPS ARE 12 GA. GALV. STEEL. 12:—0" 172" 27 GALV. STEEL TRACK FASTENED TO
BRACKETS/CLIPS ARE ATTACHED 15 —-6"1178" 12 GA GALV STEEL TRACK BRACKETS . y
TO TRACK WITH EITHER TWO 1#.!'4" 15'—{}" 184" WITH EITHER {2) ffq," DA, RWVETS OR 27 DA, ?—1;’2 LOMNG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE,
RIVETS OR ONE 1/4" BOLT AND 16 -6"[190" (1} 1/4" X 5/8" BOLT & NUT PER —_—
MU, L R SR B LHR BRACKET {2-1/2" x 5-3/4" x 12GA)
17'-6"[202" = SRl
18'-0" 208" PREPARATION OF JAMBS BY OTHERS. ATTACHED WITH (2) 1/4" » 3/4" SELF TAPPING
— SCREWS.
T
= _RACK CONFIGLRATCN JAMB CONFIGURATION TRACK
DOORS 800 LBS AND QOVER, DOCRS 800 LBS AND OVER QW HEADROOM OPTION
CENTER HAMG REQUIRED FOR e S Ea A L (AVAIL. FOR BOTH 2" AND 3" TRACK)
MOTE DOUBLE TRACK DOCRS OVER &' HIGH.
HEADROOM, Hi-LIFT TRACK, \ ’ “ DOUBLE HORIZONTAL
FOLLOW-THE— ROOF ; % TRACK.
TRACK, AND VERTICAL LIFT - = = 1" DOOR OVERLAP (EACH SIDE)

OPTIOMAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).

TRACK ARE AVAILABLE
QPTIONS.

TRACK CONFIGLIRATION
ABOVE THE DOOR OPENING
DOES NOT AFFECT THE
WIND LOAD RATING.

2x6 SYP JAMB (IF PRESENT:
SEE JAMB NOTES ON SHEET 3). 18 GA GALV. STEEL DOUBLE—-END-STILE FASTENED

THICKMESS: 0.101", ANGLE THICKNESS: 0.080". HORIZONTAL TRACK : iy WITH (1} §#8 X 1/2" WAFER SCREW.
SUPPORT BY DOOR " :

MIN. ANGLE DIMENSIONS 3—1/4" x 2-7/8".
VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING  TOTALLER (TO suim). 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED ?

JUNCTION. TWO 1/4" BOLTS [—— FROM LAST MOUNTING AMGLE. SEE LAG BOLT MOUNTING AT TRACK | 14 GA. GALV. STEEL CENTER HINGE
& MNUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION CONFIGURATION BELOW. FASTENED TO SECTION W/(4) EACH
\L 7/16" 1.D. ROUND #14x5,/8" SHEET METAL SCREWS.

3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK

ADDITIONAL MOUNTING SLOTS
P L PUSH WNUT FASTENMER.
Bt SPACED AT 12" CENTERS. 0.101™ THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
TO TAPERED ANMGLE. TRACK ATTACHED TO STILES w,f{it}“ EACH §14x5/8" SHEET METAL SCREWS
12" ON CENTER TAPERED ANGLE WITH ONE 1/4"«5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
- NUT AT EACH MOUNTING SLOT.
46 3" DI 8-1,/2" LOMNG STEM BALL BEARING STEEL ROLLER.

MANUFACTURING PRODUCT CODE

OPENING HEIGHT = DOOR HEIGHT

SECTION C-C
34" ONE. J&" TRACK BOLT AND NUT AT EACH PREPARATION OF JAMBS BY OTHERS. C-DSIu-1D477
: f MOLINTIIG -SLOT ™ LOCATION. DESIGN LOADS: +36.0 P.SF. & —40.0 P.SF. PART NO.: N/A
= St TRERTL TEST LOADS: +54.0 P.S.F. & —60.0 P.SF. i
= 2 e HEIGHT [TRACK LENGTH | unless Stoted Otherwise | D [= l 8585 Duke Boulevard WINDLOAD RATING
b . T nson,
: : 70172, TOLERANCES o« | uum LIOPAY "% S50an | \ /¢ DPR6G
v AR - 9'_0" TS 0= £.00 Buiding Products Compony Fox MNo. 513-770-4853
o ot a3 Le J " = = ONE 5/18" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = +.015 i e " INTELLICOR RS UP TO 14'2"™W (SEE TABLE
g 0‘7 YR i e AR DISTANCES AS THE TRACK BOLTS (LE. 3-1/2", 10, 22", 34, 000 = +ops (CESCRIPTION: 1-3/4" INTELLICORE BOO : ( )
Y G e S 4O 156" 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28%, & 0000 = +.001 DRAWN BY: SH DATE: 2/10/14 |SCALE: NTS DWG.
DESIGN -EMGINEER: & N 1607 160" 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE Degrees = %1/ T - 2/10/14 4 2 |SIZE
MARK WESTERFIELD: ~P.E- - TR 177-07 204" VERTICAL /HORIZONTAL TRACK JUNCTION. I A CHECKED- BY = DATEL 24007 1% [SHEET *-0F
o 18 -0 228 DIMENSIONS ARE IN INCHES.| DWG. MNO.: 104881 - A/B VER: TDI

FLORIDA P.F--#48495 . NC P.E. #23832, TEXAS P.E. #91513
4 3 “» 2 1



